TR T T T

2
2
o
M + 18
o ST
B Bl=le
N
™
= ~; N e
L Bre| [T ) [Epgl L]
s|e s|e .
L5l [ L 1glel L 5
1214 [ 11214 [
= = & =
> O e @)
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ A | e |
& %H\\\\F \\\\\\\\\\\\\\\\\\\ N W_HT\\4 \\\\\\\\\\\\\\\\\\\\ | N Y syt p—— | —— rﬁmgﬁm\‘ N e | —— | p— %W U
o e
n . N N n " N
A [ N N N N \\ RN N T
n < - N . - n
<< N E= £ @) g N E= E
ol (o9 T H |%[E ol o |2 m T H %E o < E
= N e o > | Dl T \\\ . N S|5 ]
2l % | |2 2l O 2l An_.u | i 2l Ao_.u
N Ol I QL
BN == S BN ==
% g — <2 3 g — 3
X 3 < ¢ O < O
O= = -0 T
m
E:
~
=
o~ ~ N
gl E £l £
| &S|
—121 MR
WO i WO Il
O Ll O L L
m=zZo m=o L
~>
~3
_P V/_m _P
el [ |1 Bpe| L
s|e 3|
Sl || L 1glel L
gL [ 1131y [
z 2| &
o) &l
S _ T TP R E T e A (S]] _ o
N\ LI | S i | ————— N %"W\\\¢ \\\\\\\\\\\\\\\\\\\\ il ped | X\ | | — | ——— rH#W B\ N ._m”r\\\;._ \\\\\\\\\\ | ———
o VAN
n N N 0 7 N
I I
N - N N - N
g N E= £ < gy N E= :
N o ——H |3t 3 % O —H |9 S o %
T =N 55 = 7] ~— = o~ N = S o= ”
2l D a—| (85 2 O 2l N | WL 2= N
% X | IS ) ) x| WS O
N S - p) % S - %
® © ® ©
X E ¥ [ < U < U
o 0 ]
z g
=

346°

GRUNDRISS ERDGESCHOSS



uhrigdet
Schreibmaschinentext
Klasse 1 B

uhrigdet
Schreibmaschinentext
Klasse 1 A

uhrigdet
Schreibmaschinentext
Klasse 2 C

uhrigdet
Schreibmaschinentext
Klasse 2 B

uhrigdet
Schreibmaschinentext
Klasse 3 A

uhrigdet
Schreibmaschinentext
Klasse 3 C

uhrigdet
Schreibmaschinentext

uhrigdet
Schreibmaschinentext
Klasse 4 B

uhrigdet
Schreibmaschinentext
Klasse 4 A




